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Unit :1 The Human Body 

 a) Concept Check. 
i. Skin 
ii.  Skin 
iii. Ears 

 
b) Matching:-  
 
i) c   ii) b   iii) c   iv) d 
 Choose the correct answer:-  
i) b ii) a,c  iii) b  iv) c  v) b 

 
 Match each body part to the correct system 
i).d  ii) c   iii) e   iv) a  v) b 
 
 which words do not belong in each list? 
i). eye, lung   
ii) nerve, heart  
iii). ear , rib  
iv) hip, brain 
 
 Answer the following question. 
i. The nose, windpipe and lungs make up the respiratory 

system. 
ii. The heart pumps blood to all parts of the body. 
iii. The bones and muscles help us to stand and move if we did 

not have this framework we would not be able to move. 
iv. Yes we can tell by feeling the pulse around the body. No, all 

people do not have all five senses. 
 

 Labeling 
On page # 6 
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Pg 7 

b. 2120      Th  H  T  O 

 

 

 

c) 1457       Th  H  T  O 

 

 

 

d) 3032       Th  H  T  O 

 

 

 

e) 1506       Th  H  T  O 
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Exercise 1 
Q.1: Fill in the blanks. 

a) The place value of 8 in 348561 is _______. 

b) 31,43 and 25 are ______numbers. 

c) 52 is ______than 53. 

d) 21,22,23,24 are in ______. 

e) 11 is _____ than 10. 

Q.2: State whether the following are true or false. 

a) In 495 the place value of 9 tens.  _____ 

b) Roman numeral v stands for 4   _____ 

c) 73 is an even number.     _____ 

d) 84 is an even number.      _____ 

e) 15 > 14 .        _____ 

Q.3: Select the correct answer 

a) Roman numeral XVI stand for  
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i) 10   ii) 14    iii) 16   iv) 15 

b. Four hundred thousand three hundred and forty figures is:- 

i) 40340   ii)4340   iii) 400340  iv)43040 

c) The number 19 is  

i) greater than    18 ii) double of 9  

iii) less than 18   iv) double of 10 

d)The place value of 2 in 21750 is  

i) 2 thousand    ii) 2 hundred thousand  

iii) 20 thousand   iv)2 hundred 

e) 17 in Roman numerals is  

i) XV    ii) XVII    iii) VII   iv) VIIIIIII 

Q.4: Write the numbers in Roman Numerals. 

a) 16 ___________  b) 10________  c) 11_________ 

d) 8___________  e) 7________  f) 20__________ 

Q.5: Write in Roman numbers in numerals. 

a) IX ________  b) XIX ______  c) XIV _______ 

d) V _________  e) XV _______  f) XIII _______ 
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Exercise 2 a 

Q.1: Fill in the blanks. 

a) The sum of 8000 and 1000 =__________ 

b) 4520+3500 = ____________ 

c) 300 +1300 = _________ 

d) 1060 + 1000 = _____________ 

e) If 25 is added to 1975, the sum will be __________. 

Q.2: State whether the following are true or false. 

a) To add two numbers we add one first. _______ 

b) 4250 is the sum of 3125 and 1025 ______ 

c) When we add the numbers we start adding from the left._____ 

d) One hundred more than 6504 is 6604__________ 

e) Numbers written horizontally cannot be added _________. 

Q. 3: Select the correct answer from the given options. 

a) 

 

i)204   ii)224   iii)214   iv)250 
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b) What is added to 1700 to make it 2000? 

i) 100    ii)300   iii)200   iv)400 

c) 3910 and 2100 add up to  

i) 6010 I   i)5910   iii)5020   iv)4120 

d) 1005 +3005 is equal to  

i)40010    ii)4010   iii) 13010   iv)4120 

Exercise 2 b 

Q.1: Fill in the blanks. 

a) 100 – 80 = _______ 

b) 629 – 29 = _______ 

c) 770 – 700 = ______ 

d) 226 – 20 = _______ 

e) 1894 – 1764 = ______ 

Q.2: State whether the following are true or false 

a) 90 subtracted from 1090 is equal to 1000.  _____ 

b) The difference of 3500 and 4900 is 400.   _____ 

c) We start subtraction from the right of given numbers. _____ 

d) If we take out 3894 from 5800, the result is 2094. _____ 
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e) We can subtract a 5-digit number from a 4-digit number.____ 

Q.3: Select the correct answer from the given options. 

a) Take away1500 from 2500. The result is  

i)1950   ii)1000   iii)3000   iv)4000 

b) Subtracting 200 from the sum of 1200 and 7500 

i)8700   ii)8900   iii)8500  iv)8000 

c) Rana had Rs.4500. she spent Rs.3613. she is left. 

i)Rs.8113   ii)Rs.913   iii)Rs.887   iv)Rs,837 

d) Rafay is 136 cm tall. Anum is 127cm tall. Rafay is taller than anum 
by. 
i) 9cm   ii)109cm   iii)11cm   iv)19cm 

e) 5872 – 2167 is equal to  

i)8039   ii)3715   iii)3705   Iv)395 

 

SUBJECTIVE TYPE 
Exercise 1 

 
Q.1: Write the odd numbers from 50 to 70. 

________________________________________________________

________________________________________________________ 
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Q.2: List the even numbers from 60 to 80 

________________________________________________________

________________________________________________________

________________________________________________________ 

Q.3: Write the number names in words. 

a) 672072  = __________________________________ 

b) 509453  = __________________________________ 

c) 854792  = __________________________________ 

d) 970420  = __________________________________ 

e) 3008  = __________________________________ 

f) 1011  = __________________________________ 

g) 5094  =  __________________________________ 

h) 9704  =  __________________________________ 

i) 101 111  = __________________________________ 

j) 300801  = __________________________________ 

Q.4: Write in numbers. 

a) Two hundred and six thousand three hundred and four 

_________. 
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b) Seven hundred and twenty five thousand one hundred and 

twenty _________ 

c) Six hundred thousand and nine _________ 

d) Ninety three thousand four hundred and forty two________ 

e) Ten thousand five hundred and nine.________ 

f) Twenty two thousand ______________ 

g) Six thousand and nine___________ 

h) Eight thousand nine hundred____________ 

i) One thousand one hundred and eleven.__________ 

j) Five thousand six hundred and four_____________ 

Q.5: Write these numbers in thousands, hundreds, tens and 
ones. 
 

a) 211589 =____________________________________ 

b) 364711 =____________________________________ 

c) 972045 =____________________________________ 

d) 656902 =____________________________________ 

e) 340265 =____________________________________ 

f) 1589  =____________________________________ 
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g) 6471  =____________________________________ 

h) 4026  =____________________________________ 

i) 3802  =____________________________________ 

j) 9527  =____________________________________ 

Q.6: Write the value of circle digit :- 

a) 6 4 9 7 6 7 =____________________________________ 

b) 3 4 8 0 2 7 =____________________________________ 

c) 1 8 9 6 2 7 =____________________________________ 

d) 3 9 1 0 2  =____________________________________ 

e) 2 0 4 8 7 9 =____________________________________ 

f) 6 4 9 7  = ____________________________________ 

g) 8 9 9 4  =____________________________________ 

h) 2 1 6 0  =____________________________________ 

i) 3 4 8 0  =____________________________________ 

j) 6 2 0 4  8   =____________________________________ 

Q.7: Write each number in expanded form:-  

a) 152796 =___________________________________ 

b) 318248 =___________________________________ 
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c) 627051 =___________________________________ 

d) 904870 =___________________________________ 

e) 530612 =___________________________________ 

f) 42912 =___________________________________ 

g) 10273 =___________________________________ 

h) 56931 =___________________________________ 

i) 76066 =___________________________________ 

j) 84678 =___________________________________ 

Q.7: Write these expanded for in numbers:-  

 

 

 

 

 

Q.8: Fill in the symbols > or <
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Q.8: Write these numbers in ascending order

 

Q.9: Write these numbers in descending order
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Q.10:  

Write the predecessor      write the successor 

 

 

Q.11: Identify the circled number as predecessor or 

successor then put a tick in the correct box. 

Q.13: Do skip counting in twos and wrote the numbers. 

a) 7644 to 7654 

________________________________________ 

b) 9320 to 9328 

________________________________________ 
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c) 8407 to 8417  

________________________________________ 

 

Q.14: Skip count in fours and fill in the missing numebrs

Q.15: Skip count in fives. start with the first numbers. 
 

a) 3105 to 3130 

   ______________________________________ 

b) 6995 to 7020 

 ______________________________________ 

c) 5095 to 5125 

_____________________________________ 

d) 990 to 1015 

 _____________________________________ 

e) 7895 to 7920 

 ______________________________________ 
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Q.16: Complete these sequences. Skip count in 10s. 

 

 

 

 

Q.17: Fill in the missing numbers, skip counting in 100s. 

 

 

 

 

Q.18: Fill in the missing number. Skip counting in 1000s. 
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Exercise (2a) 

Q.1: Add the following 
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Q.2: Word Problem. 

a) 3065 people live in village A and 5618 people live in village B. 
how many people altogether live in the two villages. 
Solution: 

 

 

 

b) Farmer Ahmed has 1650 apple trees and 4380 plum trees in his 
orchard. How many total trees does he have in his orchard? 
Solution: 
 
 
 
 
 
c) 2750 mobile phones were made in a factory in one week and 
1876 phones were made the next week. How many mobile phones 
were made altogether in two weeks. 
Solution: 
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d) Moiz has 1480 mangoes, 1070 oranges and 926 apples for sale 
in his fruit shop. How many fruits are there in the shop 
altogether? 
Solution: 

 

 
e) 2846 people went to watch a cricket match on Saturday and 
5438 went on Sunday. How many tickets were sold in two days 
altogether? 
Solution: 
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Exercise (2b) 

Q.1: Subtract the following:  
  6 1 2 5      2 5 3 2 

- 3 3 5 7    - 1 1 8 6 

 

  8 7 4 1   8 3 2 9 

-  5 2 6 9  - 1 5 6 5 

 

 3 2 0 4    5 7 0 6 

-1 5 2 8   - 4 5 3 7 

 

 4 0 0 1    2 0 0 0 

-1 8 9 3    - 9 8 1 

 

  9 0 0 6   7 0 0 0 

-  3 9 8 5  - 5 1 8 5 
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Q.2: Word Problem 
a) In a school of 1257 students, 629 have pets. How many  
students do not have any pets? 
Solution:  
 
 
 
 
 
 
 
 
 
b) A milk van carried 3400 bottles of milk. The milk man delivered 
1967 bottles. How many bottles were left? 
Solution:  
 
 
 
 
 
 
 
 
 
c) 1450 people were at the beach on Saturday . when it rained, 
1091 people left the beach. How many people remained there? 
Solution:  
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d) Ali collected Rs.1850 as donation for flood affected people. He 
sent Rs.795 to the village. How much was still left to be sent? 
Solution:  
 
 
 
 
 
 
e). Rameez made 1038 runs and Hameed made 2040 runs. How 
many more runs did Hameed make than Rameez? 
Solution:  
 
 
 
 
 
 
 
 


